R ?112%‘33)?:%?1?#%
f’i’: 931‘1 TEJ. pﬁt?{'ﬁmﬁiﬁb‘p‘ﬁﬁg‘ M 10;}‘:’;}‘:’ 3y

- B MAERKEFLSP L (R LR )
1. E 7?"‘(;&&:4 1 ¢ )
1 ¢ EOW

SR BRI R RRFE L
1. H®©¥ mzE: T Al
L1 ¢ :mO¥
2. BY IE AL
k(5 R E PR
AL Y Tk SR S 4
A, BP0 R ImpE A 4R L

Xﬁi;é‘fﬁ"g’“g (7@ B %) i 5o %‘E} FrEREAAS AR Pﬁ;ﬂﬁ E —‘ 42+ 112 & 8
12p (BY=) P93, 11 8y @P i B
WL A PRI ARATIAERINT I GFAFIFARE DR T
HPFH o d BBA R B EA o

2237 125 ERF 10 A A RFIGERD 2 &5 L3F

CRLARLEE F
HEY N E PR R R L S ARIBERE S F Y R

el i A
R 1 Rk (- 4o o BaoR)

COLEERELES T3
WA PP R R R AR IRIBERA B A

e FEy P “iR o s
=2 K% g ‘:‘l: }4‘ f‘j\ 7 ol > — % L% e
B¢ 3w alf? ALHTESS g | FxQ 6 |FRERD SR
E SRR A20 AK




Fls M i
3 oIm 1| * &5 156~21 & |z ggrpif A2
o o |FETEL FELL D fo STl § 2 it
AT %318 AR F kR i
TR B 1 | &9 4~10 & |2 gfmsei) 4fnz
i il ¥ 2 At
AL

. I

PR F p 4= 113277 31 p 2o
(BE# =) 2 BRI KfFdof 7

|L o

2. RHAFDHE

pl12#8% 30 p4=3 113267 30 p k> %

20p (&4 ) ok o

e~ (FEPAR

2

1 B

B,

PR

FlEHARZEFHYI 11317 310
EARELE Sg-u: 5T D

22

B?.%k - P ¥

| B A2y 1 [13 &1 7

i
1 $ll=42 $12= 4% 5134
T ¥ pFiz
o 8238 (z) 82 7p (=) 82 9p (=) 82 11p (1)
: F=9:00%10:30 | +=9:00%10:30 | +=9:00%10:30 | +=9:00%10:30
B 87 3p (z) 82 17p (=) 8798 (=) 87119 (1)
i F=11:104= F=11:104= F=11:104= F=11:104=
R o) 8770 (=) 8799 (=) 87 118 (1)
CoTE T = 6:00% T = 6:00% T =6:00% T =6:00%
st 1 82 4p (1) 828p (=) 82 10p (=) 82 14p (-)
F=9:30%11:00 | +=9:30%11:00 | + =9:30%11:00 | + =9:30%11:00
P M2 %% | R Rv4%=
R 1 =
BRE- T | AP ERTFTRE
FRz Ay By
I L~ F Y BB 74 2 F & (doleh ~ X %
) EFHAH FRe 4

Lt PEIT o

ik fl'% > 4 i Hp A% #-E



